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Aufgaben Potenzen und Wurzeln | (Berechnungen)

1. |Berechnen Sie die folgenden Terme
)| (a+b)’ b)| (a+x)? °) | (a-b)’ D (x-yy
e) (a+ b)3 f) | ax® +bx’ ) (4a2 +4a+1)x h)| 492% -1
5
X X 7z-1
(2a+1)
2. |Berechnen Sie die folgenden Terme
a) | ma® -ma’b? b) | 25x? —100y? c) (az +24b + b2)3
ma? 5x +10y (ar b)3
3. |Berechnen Sie die folgenden Terme
a) (as _3a%b + 3ab? —b? )m b) | x%y® = x3y* +oy°
— X2 2
(a-b) ’

4. |Berechnen Sie die folgenden Terme

a) lxzyz b) [a2b2c2 C) /4X2y2 d) SNENE

€)| sfi0y5,15 N | 4/22pict 9) (X4y4)~'§ h) (272"

Wl

5. |Berechnen Sie die folgenden Terme

a)|3+3J2-v2+443 b) %/;—3/6+2</§—33/5

ol P i 2 |2 el 2
{(a b)}{(a b)} saj/;ajaa

€) X% -xg 12/ =18 L (n+x)% -,“/(ner)5

6. |Berechnen Sie die folgenden Terme
a| 3 2 b)| 4 3 3
x2 - 2x3 -5yx - Yx? as-Ya?.a5.a5-Ya’
1 3
x4 .43 a4 .Ja® - 4a®

7. |Berechnen Sie die folgenden Terme

a)| 1 1 2 1 1 2 1 2
X3 —2X2 +5x3 —3x2 +5x3 —3x3 +x2 —2x3

| (a+b)2 + (a+b)s —(a-b)s + (a+b)5 —(a+b)s + (a—b)s

C)|Ja+b+¥a+rb-vJa-b+¥Ya-b-3%a+b+2Ja+rb+Ja-Db
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